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ECO 401-002, 003
Spring 2013
Final Exam

Name:

KEN

160 point total, answer all questions in the space provided.

1. (15 pts.) From the 757 (4/18/13): “A Bumper Crop and Chinese Go Nuts”: A stream of
Chinese nationals have descended on southern Georgia, looking to buy peanuts. Exports
to China are expected to reach record levels, This is the result of cheap prices for peanuts
after a record crop last year—up 84% over 2011 when 3.6 billion pounds were harvested
in the U.S. Prices have fallen from $0.70 to $0.45 cents per pound.

g P-h] a) [lustrate these events in the diagram below.
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(1 p\‘-s) b) Calculate own-price elasticity of demand for peanuts.
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2. (20 pts.) Homer finally gets fired from his job once and for all. His spirit broken, he sits
around the house all day and does nothing. His wife Marge decides that she will earn
money by taking in and doing other people’s laundry. As a result of her labor, the
household’s income is $600 per month. Under these conditions, the Simpson family
chooses to consume 150 units of food (Pr = $1.00 per unit) and 450 units of other goods
(Poc = $1.00 per unit).

b)

{1 o

a) lllustrate the Simpsons’ initial situation with a budget-constraint and indifference-

curve diagram. [Hint: Read part (b) before you draw your indifference curve, |
Suppose the Simpsons qualify for a food stamp program whereby they are given the
option of spending $300 in cash income on coupons that can be redeemed for 400
units of food, but that cannot be used to purchase other goods. The Simpsons decide
not to participate in the program and continue to consume F=150 and OG=450.
Tllustrate the effect of the food stamp option on their budget constraint and explain
why they don’t puichase the food stamps by drawing another of their indifference
curves.
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3. (15 pts.) Bart consumes two goods, beer and pizza. Bart’s income elasticity of demand
for beer is zero. Bart’s monthly allowance from his parents is $100. When the price of
beer is $10 per six-pack and pizzas are $10 apiece, he consumes five six-packs of beer

per month. When the price of beer falls to §5 per six-pack (and the price of pizza stays

the same), Bart increases his consumption of beer to seven six-packs per month. (a)

lustrate Bart’s initial budget constraint and consumption bundle in the diagram below.
(b) Then illustrate his new budget constraint and consumption bundle after the price of
beer falls. (¢) Finally, decompose the total change in his consumption of beer resuiting

from the price decline into its income effect and substitution effect components.
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4. (15 pts.) In 1987 the market price of a four-foot alligator was $180. Approximately
300,000 four-foot alligators were bought and sold at that price. Minimum efficient scale
for a typical alligator farmer is 3000 alligators per year. At that scale of operation,
average total cost equals $150.

a) Tlustrate these supply and demand conditions in the market diagram below. Then
illustrate the ATC, MC, and demand curves for a typical alligator farmer facing the
1987 market conditions. Show the firm’s profit-maximizing output and its profits in
your diagram.

b) Now imagine that you were asked in 1987 to predict the future of the industry. Given

- the 1987 market conditions, what do you think was likely to happen in the alligator
market going forward? Your answer should contain references to short-run and long-
run profits, the number of firms, and market price and output.
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5. (15 pts.) A firm has fixed and variable costs as given in the table below:

Q 0 2 4 8 12 16 18 20 21
TFC 200 200 200 200 200 200 200 200 200
TVC 0 160 240 320 360 449 520 680 840
The firm is a monopolist, and faces a market demand curve given by P = 80— 4Q.
a) Plot the firm’s total revenue, TC, and TVC curves in the diagram below. To plot
9 total revenue, just calculate TR for Q =0, 2, 4, §, 10, 12, 16, 18, and 20.
‘ b) What output will maximize profit (minimize loss) in the short run? Show this output
in the diagram and illustrate what the firm’s profits (losses) will be at that output.
¢} Bonus (5 pts.): Ilustrate the MR=MC profit maximization condition in this diagram
5 and briefly explain.
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6. (10 pts.) Robinson Crusoe and Friday are currently using L, and K in the production of
coconuts such that MRTS; x = 2K:1L. They are currently using L and K in the
production of fish such that MRTSy x = 1K:2L. Show their choices of L and K for
coconuts and for fish in the diagrams below, i.e. show the points on the Q. and Qs
isoquants where they are currently operating. Is this situation Pareto optimal? If not,
explain how you could reconfigure the usage of L. and K to make them better off.
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7. (10 pts.) International arms dealer Leonardo da Vinci pays Crusoe and Friday a visit on
their island. He is selling trebuchets, which can hurl a 500 pound stone with accuracy
and are effective in sinking pirate ships at a range of up to one-half mile offshore. Crusoe
and Friday have been invaded before, and are interested in protecting their island from
marauding pirates. Their individual demand curves which reflect their marginal
willingness to pay for trebuchets are given in the table below:

Quantity of trebuchets: 1 2 3 4 5
Crusoe’s WTP: $70 1 = $60 $50 $40 $30
Friday’s WTP: $60 $50 $40 $30 $20

Da Vinci is charging $100 apiece for his trebuchets. In the diagram below illustrate
Crusoe’s demand curve for trebuchets, and then illustrate Friday’s demand curve for
trebuchets. Then illustrate the social marginal benefit curve, and explain what the Pareto

optimal number of trebuchets for them to buy is.
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